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JIF J97 H7 I 100 551 & 37feres 787 5147 =130 |

(vi) @B T H T97 GIT 24 T 26 T TR, Higd T THITT-STIRT I97 & |

(vii) TUE T F 97 &7 27 & 30 7% 53709 (LA) ¥HR & Bg-Dg b & F97 3 /
Y% §97 BT IR 170 Js5] @ 371 787 8141 F1e0 |

(viii) FeT-97 8 HIF GHY [dHc7 787 & | TefT F& 39791 § 3ake ey H1 Jaam &3
T 8 | 37§99 § @ acT ek 31 Y97 H7 I 7T 7w |
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(iv) @I =l 99 3TMEfed o hl Wk 7 |
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(¢) had (i) 3 (iv) (d) whad (i) 3 (iid)
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C — Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D — Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. Which one of the following Princely States initially opposed joining the
Indian Union ?

(a) Baroda (b) Hyderabad
(c) Mysore (d)  Gwalior
2. Which of the following are the common features for both, the Planning
Commission and NITI Aayog ?
(1) Both are non-constitutional bodies.
(i1))  Both have significant roles of states.
(iii) Both have the Prime Minister as chairperson.
(iv)  Both have the power to allocate funds.
Choose the correct options :
(a)  (i1) and (iv) only (b)  (i1) and (iii) only
(c) (i) and (iv) only (d) () and (iii) only
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=
AfaIRad O ¥ SH-A1 I 1989 o ABHYT FATE & YNOMET & IR H T8l 737

(a) <G U qeE 9 Uil ok T4 H 39 |
(b) IS %e A TR 5 |

(c) ot f&g yam oft &4 |

(d) HeA AR Fgh foham T |

frafafea 0 @ w9 qoHifds ol SHar & Gue 9= W fBeEn T8 oo,
T8R! e STAYRIY AR 5 1975 H TR o1 ?

(a) ARG g9

(b)  WRA™ HEIE 9T (M)

(¢) WRAE & g

(d)  EHTSETE e

f= @ o fou T d — 5 & 1 AAfieReE (A) 3 g ® HRT (R)

JAfrd foram T 28 | 31 AT &l &9H 9 uleu R i fer mw foepeut

(a), (b), (c) 3 () ¥ & I & &4 ¥ Tl fashed FHT |

SUFYT (A) : WA 3 HEWIRIT T SATqeh GLATY] HREfentor o foe S feam,
Afer it off yRa 7 W RA. & Affrasri= e #
oty fope oft WA .. T gEaie’ o & 3R T fea |

HROU(R): I Gl oy &9 § oA wiedi | A gl off 3R
TTTY] STRh-FUS Uie Wikl o TSR i dY a7t off |
(a) MR (A) 3T HRU (R) T T & I SR (R), 3heH (A) i
T SIS AT B |
(b) AR (A) 3R HRU (R) QHI Hal 7, TG SR (R), AR (A) h
HE AT T37 hicl ¢ |
(c)  Ahe (A) WEl B, W=g T (R) Teid ¢ |
(d)  AfTHAH (A) TAd 7, T RV (R) HaEl 3 |
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3. Which one of the following statements is not true about the result of
1989 Lok Sabha elections ?
(a)  Congress Party emerged as the largest party.
(b)  National Front formed the Government.
(c) V.P. Singh became the Prime Minister.

(d) Mandal Commission was appointed.

4, Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples’ march to Parliament in 1975 ?
(a) Bharatiya Jana Sangh
(b) Communist Party of India (IM)
(c) Bharatiya Lok Dal
(d)  Socialist Party

5. Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.
Assertion (A) : India pleaded with the superpowers for comprehensive

nuclear disarmament, yet India opposed the indefinite
extension of the NPT and also refused to sign the CTBT.

Reason (R): These treaties were selectively applicable to the
non-nuclear powers and legitimised the monopoly of the

five nuclear weapon powers.
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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=ﬁ%‘cﬁ$94:r1°czqm% 5w ws o SAfirshed (A) 991 gE 1 RO (R) g

JAfrd foram TRT B8 | 31 AT &l &9H 9 ulew IR 9 fer mu foekeut

(a), (b), (c) 3 () ¥ & I & &4 T Tl fashed FHT |

SHIT (4) :  feror iy & e | fafawan 1 wdie 2, O ot eferor ot
= fafie < # T S ToHlifaes gomedt § |

SR (R) : %y guETRl 7R el % arasg, 9 i whwi g 6
ST TATehd s <hl STTERTETIA | TEUTH & |

(a) 3P (A) 3 RO (R) THI Tl & W HRT (R), AR (A) hH
&l ST hdl B |

(b)  HPAT (A) IR HR (R) THI F&l &, T HR (R), AR (A) hH
T AT FET Ll g |

(c)  39HYA (A) &l §, T SR (R) T4 2 |

(d) AR (A) TAd 7, T RV (R) HaEl 3 |

UH Q¥ 1 YgH IR S =1 3TR 9| 8 for gam 787 2 |

(a) AU

(b) i@

(¢) A
(d) YH

39 29 6 qgaE Hifve Rrmeh dard sifirenrer e v T % @y o
7|

(a)  STHIEH
(b)  WRd

(¢c)  STATCH

d) 9=

T1.ELT. IV SR 5 SR § 9 370 3R 35T o 3IHoH o AT 5 T,
2019 =1 TS GHT H -8 faeTe U foram 2

(a) S 3R IR qiEwe fagees
(b) T 3R IR GuR foeren

(c) ¥ 3R IR Yeq faeeh

(d) T 3R IR T fages
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Two statements are given below — one labelled as Assertion (A) and the other
labelled as Reason (R). Read these statements carefully and choose the correct
option as the answer from the options (a), (b), (c) and (d) given below.

Assertion (A) : South Asia stands for diversity in every sense, even then

the various countries in South Asia have the same kind of
political system.

Reason (R): Despite many problems and limitations, all South Asian

(a)

(b)

(c)
(d)

countries share the aspiration for democracy.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

Identify the country which is not landlocked.

(a)
(b)
(c)
(d)

Nepal

Sri Lanka
Afghanistan
Bhutan

Identify the country which shares its borders with most of the South
Asian countries.

(a)
(b)
(c)
(d)

Afghanistan
India
Bangladesh
Nepal

NDA IV government presented which Bill in Rajya Sabha on
5th August, 2019 for the abolition of Sections 370 and 35-A ?

(a)
(b)
(c)
(d)

Jammu and Kashmir Delimitation Bill
Jammu and Kashmir Reform Bill
Jammu and Kashmir Reorganization Bill

Jammu and Kashmir Abrogation Bill
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10.

11.

12.
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frfeifaa # & H 1970 & <9 § 9qUl fava § 3= ggr-whifa o fore Rmer
T ?

(a) EIH UST (3THURT) HT HAITSAT T THAY]

(b)  WRA-UTfREdH Ig
(c) Tomam g3

(d) WIS Ig

o

fFfeiRad ® & I9-91 T %A foed &1 3299 757 8 ?

(a) U4 T TSl o stg qHH 31 oy foaafa e
(b) HCH TSAl 61 Aiaftes Al § geaaa T e

(c) U 3fyes —ETa R fsaer fava &t wome e

(d)  IMfd 9 GL&a ! Sgrar ol

fATIRaa ! HITHHATTER I HITT
(i) ek I AT
(i) U = hT T
(iil) ~ SAEAH T FATHT
(iv) = o Ffv =1 fsiem
gl forehed T -
(a) (i), (1), (iv), (iii)
(b)  (id), (iv), (1), (ii)
(c) (i), (iv), (1), (iii)
(d) (i), Gv), (iid), ()
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10. Which of the following was responsible for high inflation in the entire
world in the 1970s ?

(a) The United States’ attack on Cambodia
(b) The India-Pakistan War
(c) The Vietnam War

(d) The Arab-Israel War

11. Which one of the following statements is not an objective of BRICS ?
(a)  To distribute equal economic benefits among its member-states
(b)  Non-interference in the internal policies of member-states
(c) To establish a more equitable and fair world

(d) To promote peace and security

12. Arrange the following in chronological order :
(1) Establishment of SAARC
(ii)  Establishment of European Union

(1i1) Establishment of ASEAN

(iv)  Privatisation of agriculture in China

Choose the correct option :
(@) (i), (D), (iv), (iii)
(b) (i), (v), (@), (i)
(c) (i), (v), (i), (ii1)

(d)  (@G1), Gv), (ii1), (@)
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

59/3/2

Qs g
HEA AN hi Tl g1 THBIREI 1 Hemehd HhiIfT | 2x1=2
YA 3R &H o s G4l I Hed oHH Tl foheal &l Hehl 1 Towei ol
dillng | 2x1=2
dHeITd IUTEA g0 Afd9Ted WehicH HHadTe o fehegl &l figr=l sl ISR
i | 9x1=2
1975 H NS 3MUTaehTd o AT H deshlci Tk ¢RI feu U foregl @ dehl
! IR HITT | 2x1=2
Hifa ma = fohdl §F g SR *1 3@ HINT | 2x1=2
aqd HIfeRId 99 o fohral o TORSAT o6 AW fAfEU | 4><é=2
Lus T

T o T ¢ Wk & Hid o &9 A ATGHAIE BT g1 3T hl TgEar o
forgeiwor HifSw | 2x2=4

2fequr wfyr o SIS e 3 WA o IREINes gre-el ol fagawo Hifu | 4

2014 % FAEI & ¢ YA TeHid § AW fhdl IR sgamal &1 i

ST | 4dx1=4
TUem § TeraaTdl STeied o fohegl @ Sl sl IR hHIFT | 2x2=4
foreft 291 1 ToIfa W AiontoT o Tehegl gl IHTEl okl ISR <hIfT | 2x2=4
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.
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SECTION B

Evaluate any two recommendations of the Mandal Commission. 2x1=2

Analyse any two factors that strengthened relations between India and

Russia. 2x1=2

Highlight any two principles of Integral Humanism advocated by Deen
Dayal Upadhyaya. 2x1=2

Highlight any two arguments given by the then Government in support

of the Emergency declared in 1975. 2x1=2

State any two main functions of the NITI Aayog. 2x1=2

Name any four Republics of erstwhile USSR. 4x é =2
SECTION C

Analyse terrorism as a new source of threat to security with the help of

two examples. 2x2=4

Analyse the mutual relations between the smaller countries of South

Asia and India. 4
Describe any four changes in Indian politics after the 2014 elections. 4x1=4
Highlight any two reasons of the separatist movement in Mizoram. 2x2=4

Highlight any two effects of globalisation on the politics of a country.  2x2=4
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Qs v

24. WRA % T T TSI WI-AFRE (58 13 W) # sR Al @), @), ©
aar (D) o g 3ifehd fopam o 3 | e & 8 IR % IMER WS TS
UgIH HINT 3 0 IT-YIEdept H geh TE 1, AN I TS AR I
HU-TEAT qAT gHaT | fear mn gefag R, i @ w8 arfaet & w9 4

fafeu - 4x1=4

TN hl T8 THEGRI | T |

. . TS hT A1
1 HH-gE T 38R

(1)

(i)

(iii)

(iv)

() 98 TS T8 wdadr & 999 9@’ kel 4T o |

(i)  rEqfaa foee™ @ emaR W fAfta T |

(Gii) 98 TS fS@enl 1947 ° fawifora feram mam o |

(iv) 1952 # Tfdd 98l TS |
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24.

59/3/2

SECTION D

In the given political outline map of India (on page 15), four States have
been marked as &), @), (© and (D). Identify these States on the basis of
the information given below and write their correct names in your
answer-book along with the respective serial number of the information
used and the concerned alphabets given in the map as per the following

format : 4x1=4

Serial number of the | Concerned alphabet Name of the
information used in the map State

@)

(ii)

(iii)

(iv)

(1) The State which was called ‘Madras’ at the time of Independence.

(ii))  The State formed on the basis of imbalanced development.

(iii) The State which was partitioned in 1947.

(iv)  The first State created in 1952.
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For question no. 24

km Scale 1:15000,000 km
100500 100 200 300 400 500
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G
el 3797 dhacT gieanaa aienfeal & g 397 &7 24 & T T
g: 4x1=4

() 9 UST Rl {9 ek HI9-8 T USY S9E T 9 2
(i) T H AgE HEAT TH el TSI 1 TAHH I F1 8 ?

(iii) IAUEUE fhg TSI 9 HIE HL SH™T T & 2

(v) 39 ST &1 W fafgu 59 aeq yes 9 e o <9/=1 T 7 |

= feu U SEd 1 SAHYE TEH SHIfT 3T U MU sl o I AT | 4x1=4

(i) IR T T g &1 qaY fohd T A B 2
(a) AR (b) IO T=
(c) ®Th (d) Torrd

(i) T T hred ffciiad § @ fopeeh IR H 7 2
(a) TS ATTHT
(b) AR THSAT i T T
(c) T % foIT e \fae™ a1 o %]
(d) TR T § FEHAl
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 24 : 4x1=4

(1) Which two States were created by dividing ‘Bombay’ State ?
(i1)  What is the present name of former ‘Madras’ State ?

(iii) Uttarakhand was carved out of which State ?

(iv) Name the State which was carved out of Madhya Pradesh.

25. Study the cartoon given below carefully and answer the questions that
follow. 4x1=4

(1) The above cartoon is related to which organistation ?
(a) ASEAN (b)  European Union
(¢c) SAARC (d)  BRICS

(i1))  The above cartoon is about which one of the following ?
(a) Global warming
(b) Failure to make a trade agreement
(¢) Failure to draft a common constitution

(d) Failure to protect the environment

59/3/2 Page 17 of 23 P.T.O.



(iii)

(iv)

Hled ¥ fe@mn mn fHari 1 99 91 g 8 ?
(a) TS % e o

(b) TS hl Tehdl

(¢) T3 hl ThaIdl

(@ TS hl BT

Hied § HaUd TS ! €A1 ford o g3 off 2
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Fig: AT J97 FIT FIRETET GRTiaal & 7Y ¥o7 §ET 25 & T W

59/3/2

@

(i1)

(iii)

(iv)

AT JISHT o dgd fohd TS <hl TATYAT <hl 175 oft 2

(a) U qiwg
(b)  JUR nfefe TgiT e
(c) {aﬁa LSRR

d I e agem
ATfeete GiYy @t 39 1 foha a1 amnt A Ty fomam o 2

(a) ST, AT (b) fsrea, g

(¢c) S74Teh, e d) s, s

4x1=4

I 3 I refeuaren § gUR & % forw fopd a6 ¥ ‘gor g’ 1 A

JAUATE ?
(a) 1975 (b) 1977
(¢) 1978 (@ 1979

HIF-H I AT T TG SATEIH o FEATTH GG o ?
(a)  SSMTMEN, Taifsrn, fhfadia, R sk emseds
(b) sy, nafirn, fefadia, asde ofit 338
(¢  semtmE, fefadi, g, akde it g8

(d)  seHfEn, gofyeEn, fefod, faam ik adds

Page 18 of 23




(iii)) What does the circle of stars shown in the cartoon represent ?
(a) Member-states of the organisation
(b)  Unity of the organisation
(¢)  Success of the organisation

(d) Composition of the organisation

(iv) In which year was the organisation related to the cartoon

established ?
(a) 1967 (b) 1985
(c) 1992 (d) 2006

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(1) Which organisation was established under the Marshall Plan ?
(a) Council of Europe
(b) Organisation for European Economic Cooperation
(c) European Community

(d) European Economic Community

(ii)  Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b) Britain, France
(c) Denmark, Sweden (d) Poland, Finland
(iii) China adopted the ‘open door’ policy to improve its economy in
which year ?
(a) 1975 (b) 1977
(¢c) 1978 (d 1979

(iv)  Which set of five countries were the founders of ASEAN ?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(¢) Indonesia, Philippines, Singapore, Thailand and Brunei
(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand
59/3/2 Page 19 of 23 P.T.O.
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fefiiRed st 1 eaFYEs A=@F Hive R fqu U g & S|
ferfe - 4x1=4

YT o Y| Yo Tt 3 TS TSier aF i | Heweyut ffiee s | | fagw
i ft 9 3R I/ v <h1 e fifa K1 =1 3R fsharaee W g yvE
SreT | 3Rt T Hifd & A 98 3299 9 — ST T | 9T Audr 1§91
TEHT, T 3Rguedr ol oAU AT, 3R OF TRR & A1 faepm 1 | 98
S el I T[e-Fuerar i Hifq 9 L gEd HE Ared o | A T qw b
$S TsHITdeh g IR g T W & ep1 A1 o1 foh WId sl SRl ©H
Y el ASciehl gl ITfgu Fifer 39 ©WH 6l gfdssr dihad & fgamdt &
w94 off |

() v fagw Hifq w1 gea fmfa fefalea 5 @ o9 o 2
(a) 1.3, TSR (b)  HgTeHT TIeft
(¢c) SIOEAA 488 (d) &R 9

i) Tr=fafea 8 @ +H-a1 arwa 6 fogw Hifa =1 ke 2 2
(a) T4 fgai <t T e
(b) TR ST TRETU
(c) A9 HIRH GATSAT l AN AT

(d) TR ST

(ifi)  Te-Fruerar &1 31k B |
(a) T (b)  3TEEd&Y
(¢  guUadETg d) foreht oifth e @ & Je

(iv) ToR-eRT WA o foh WRA Wi TR o Aqcd el ©H h A1 3AMH
firrara g =nfge 2

(a) ORI 9 (b) A 9
(c) .3, 3Teght GOk
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Read the following passage carefully and answer the questions that
follow : 4x1=4

The first Prime Minister of India played a crucial role in setting the

national agenda. He was foreign minister also and exercised profound

influence in the formulation and implementation of India’s foreign

policy. The three major objectives of his foreign policy were to preserve

the hard-earned sovereignty, protect territorial integrity and promote

rapid economic development. He wished to achieve these objectives

through the strategy of non-alignment. There were parties and groups in
the country that believed that India should be more friendly with the bloc
led by the US because that bloc claimed to be pro-democracy.

(1)

(i1)

(iii)

(iv)

Who was the main architect of India’s foreign policy ?
(a) B.R. Ambedkar (b) Mahatma Gandhi

(¢) Jawaharlal Nehru (d) Sardar Patel

Which one of the following is an objective of India’s foreign
policy ?

(a) To pursue its national interest

(b) To preserve democracy

(¢) To strengthen its Armed forces

(d) To become a superpower

Non-alignment means
(a) toremain neutral (b) non-interference

(¢) toremain isolated (d) not joining any power bloc

Who believed that India should be more friendly with the bloc led
by the US ?

(a) Bharatiya Jana Sangh (b) Swatantra Party
(c) B.R. Ambedkar (d) All of the above
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28.

29.

30.
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Qs e
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(a)
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SECTION E

Highlight any four environmental concerns that have become
1

important in global politics. 4x1 3 =6
OR

Highlight any four economic consequences of globalisation. 4x1 é =6

Examine any four criteria proposed for new members of the

UN Security Council. 4x1 é =6
OR

Analyse any four steps suggested by the heads of the member

states in 2005 to make the United Nations more relevant in the

changing context. 4x1 é =6

“The dominance of the Congress Party in the first three general

elections did not adversely affect the democratic nature of Indian

politics.” Support the statement with any three arguments. 3x2=6
OR

Analyse any four reasons responsible for the popularity of Indira

Gandhi in the 1970s. 41 é -6

Describe any three factors that make most of the former Soviet

Republics prone to conflicts and threats. 3x2=6
OR

Explain any three reasons that forced Mikhail Gorbachev to

initiate reforms in the Soviet Union. 3Ix2=6
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Senior School Certificate Examination, 2023

Marking Scheme - POLITICAL SCIENCE (SUBJECT CODE - 028)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board
and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them. In class-X, while evaluating two
competency based questions, please try to understand given answer and even if reply is not
from marking scheme but correct competency is enumerated by the candidate, marks should
be awarded.

The Marking scheme caries only suggested value points for the answers These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. . If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X’ be marked.
Evaluators will not put right( V) while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note "Extra Question".

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only once

11

A full scale of marks 80 marks given in Question Paper has to be used. Please do not hesitate to
award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours every day
and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines).

13

Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-
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e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e  Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e  Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0)Marks.

15 | Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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SECTION - A

Pg

Marks

Tot

Q1.

Which one of the following Princely States initially opposed joining
the

Indian Union?

(a) Baroda (b) Hyderabad

(c) Mysore (d) Gwalior

Ans

(b) Hyderabad

P-
16-
Il

Q2.

Which of the following are the common features for both, the
Planning Commission and NITI Aayog?

(i) Both are non-constitutional bodies.

(ii) Both have significant roles of states.

(iii) Both have the Prime Minister as chairperson.

(iv) Both have the power to allocate funds.

Choose the correct options
(a) (ii) and (iv) only

(¢) (i) and (iv) only

(b) (ii) and (iii) only
(d) (i) and (iii) only

Ans

(d) (i) and (iii) only

Ch
2-
I,

ref.

Q3.

Which one of the following statements is not true about the result of
1989 Lok Sabha elections?

(a) Congress Party emerged as the largest party

(b) National Front formed the Government.

(¢) V.P. Singh became the Prime Minister.

(d) Mandal Commission was appointed.

Ans

(d) Mandal Commission was appointed

17
6-11

Q4.

Which among the following political parties was not a part of the
Jayaprakash Narayan (JP) led peoples' march to Parliament in
19752

(a) Bharatiya Jana Sangh

(b) Communist Party of India (M)

(c) Bharatiya Lok Dal

(d) Socialist Party

Ans

(b)Communist Party of India (M)

10
6-1I

Q5.

Two statements are given below-One labelled as Assertion (A) and

the other labelled as Reason (R). Read the statements carefully and
choose the option as the answer from the options (a),(b),(c) and (d)

given below.

Assertion (A) :India pleaded with the superpowers for
comprehensive nuclear disarmament, yet India opposed the
indefinite extension of the NPT and also refused to sign the CTBT.
Reason (R) :These treaties were selectively applicable to the non-
nuclear powers and legitimised the monopoly of the five nuclear
weapon powers.
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(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true ,but Reason (R) is
not

the correct explanation of the Assertion (A)

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

P-
79-
Il

Ans (a) Both Assertion(A) and Reason ( R) are true and Reason (R) is the

correct explanation of the Assertion (A).

Q6. Two statements are given below-one labelled as Assertion (A) and the 1
other labelled as Reason (R). Read these statements carefully and
choose the correct option as the answer from the options (a), (b), (¢)
and (d) given below.

Assertion (A) :South Asia stands for diversity in every sense, even
then

the various countries in South Asia have the same kind of political
system.

Reason (R): Despite many problems and limitations, all South Asian
countries share the aspiration for democracy.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)Assertion (A) is false, but Reason (R) is true

Ans (d) Assertion(A) is false, but Reason (R) is true. GPG-

Q7. Identify the country which is not landlocked. 1
(a) Nepal

(b) Sri Lanka
(c) Afghanistan
(d) Bhutan

Ans ; P- 1
(b) Sri Lanka 75.

Q8. Identify the country which shares its borders with most of the South 1
Asian countries.
(a) Afghanistan
(b) India

(c) Bangladesh
(d) Nepal

Ans ; P-
(b)India 75.

Q9. NDA 1V government presented which Bill in Rajya Sabha on Sth 1
August, 2019 for the abolition of Sections 370 and 35-A?
(a) Jammu and Kashmir Delimitation Bill

(b) Jammu and Kashmir Reform Bill

(¢) Jammu and Kashmir Reorganization Bill

(d) Jammu and Kashmir Abrogation Bill

4
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Ans

(c ) Jammu and Kashmir Reorganisation Bill

(o))
=228

Q10.

Which of the following was responsible for high inflation in the entire
world in the 1970s?

(a) The United States' attack on Cambodia

(b) The India-Pakistan War

(c) The Vietham War

(d) The Arab-Israel War

Ans

(d) Arab-Israel War

P-
78-
Il

Q11.

Which one of the following statements is not an objective of BRICS?
(a) To distribute equal economic benefits among its member-states
(b) Non-interference in the internal policies of member-states

(c) To establish a more equitable and fair world

(d) To promote peace and security

Ans

(a) To distribute equal economic benefits among its member states.

Ref

Q12.

Arrange the following in chronological order:
(i) Establishment of SAARC

(ii) Establishment of European Union

(iii) Establishment of ASEAN
(iv)Privatisation of agriculture in China
Choose the correct option

(a) (i), (i),(iv), (iii)

(b) (iii), (iv), (i),(ii)

(¢) (i) ,(iv), (1), (iii)

(d)(ii), (iv),(iii), (i)

Ans

(b) iii), (iv), (i), (ii)

Ch.
2-1

SECTION - B

Q13.

Evaluate any two recommendations of the Mandal Commission.

2x1

Ans

Recommendations of Mandal Commissions were:-

i) 27% seats were reserved for OBCs in educational institutions
and government jobs.

i) Recommended land reforms to improve the conditions of the
OBCs.

These two recommendations improved the condition of OBCs and they
became active in the politics of India.

18
2-ll

2x1

Q14.

Analyse any two factors that strengthened relations between India
and

Russia.

2x1

Ans

i.The Indian military gets most of its hardware from Russia.
ii.Russia has repeatedly come to the assistance of India during its
oil
crises.
iii.Russia stands to benefit from this relationship because India is

P-
29-

2x1

5
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the
second largest arms market for Russia.
iv.Russia is a great help for India’s Nuclear energy programme and
Space industry.
On analyzing the above factors, it is clear that these have
strengthened the relations between the two.

(or any other relevant point) (Any
two)

Q15. | Hiohli .. . 2x1

ighlight any two principles of Integral Humanisn advocated by
Deen Dayal Upadhyaya.

Ans | Principles of Integral Humanism are:- Ref | 2x1
i.Primacy of whole and non-part (not of the part) .M
ii.Supremacy of Dharma
iii.Autonomy of Society

(Any
two)

Q16. Highlight any two arguments given by the then Government in 2x1
support of the Emergency declared in 1975.

Ans | Arguments to- P- 2x1
i) The government said that it wanted to use the Emergency to | 11
bring law and order, restore efficiency and above all, implement | 3-I!
the proper welfare programmes.

i) The government agreed that frequent resources to agitations,
protests and collective action are not good for democracy.

iii) Indira Gandhi believed that subversive forces were trying to
obstruct the progressive programmes of the Government and were
attempting to dislodge her from power through extra-constitutional
means.

(any other relevant argument) (Any two)

Q17. State any two main functions of the NITI Aayog. 2x1
Ans | Functions of NITI Aayog:- Ch. 2x1
i.It provides the necessary and technical advice to the Union 2-
government regarding policy making. I,
ii.It harmonizes the interest of national security and economic Ref

policy.

iii.It prepares a strategic and long-term framework of policy and

programme.

iv.It acts as a think tank of the Union government.

(Any

two)
Q18. Name any four Republics of erstwhile USSR. ax e
Ans | Republics of USSR:- 2-1l | 4x %

Armenia, Azerbaijan, Belarus, Estonia, Georgia, Kazakhstan,
Kyrgyzstan, Latvia, Lithuania, Moldova, Russia, Tajikistan,
Turkmenistan, Ukraine, Uzbekistan.

(Any
four)
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SECTION C

Q19.

Analyse terrorism as a new source of threat to security with the help
of two examples.

2x2

Ans

Terrorism:-
It refers to political violence that targets civilians indiscriminately.
They use civilians as a weapon against the national Government
to change a political context or condition they do not like. It also
refers to systematic use of brutal violence that created an
atmosphere of fear in society. It is used for many purposes, very
prominently for the politico-religious purposes and to destabilize
any targeted government.
Examples:
i. Plane hijacking such as attack on World Trade Centre in America
by hijacked planes.
ii. Planting bombs at crowded places
iii. Killing of innocent people.

(Any
two)

10
7y
10

2x2

Q20.

Analyse the mutual relations between the smaller countries of South
Asia and India.

Ans

Mutual relations between the smaller countries of South Asia and
India are:-
i.Due to India’s size and power in South Asia, smaller countries are
bound to be suspicious of India’s intentions. The Indian
government on the other hand often feels exploited by its
neighbours.
i.Smaller countries think that India wants to invade and dominate
international markets with the help of SAPTA.
iii.India does not like the political instability in these countries
fearing it can help outside powers to gain influence in the region.
iv.Many times India helped the smaller countries in solving their
problems.
v. Economic relations between these two are also improving.
vi.Cooperation between the two can also be noticed. For example
India and Nepal are allowed to travel and work in each other's
country without visa and passport.
vii. For development and cooperation South Asian countries have
established a regional organization named SAARC.

(Or any other relevant point) (Any two)

P-

71,

77-
Il

Q21.

Describe any four changes in Indian politics after the 2014 elections.

4x1

Ans

Changes in Indian Politics after 2014:-

i.End of Congress Party led coalition government (UPA).

ii.Rise of BJP with absolute majority in Lok Sabha.

iii.Continuation of coalition (NDA) with regional parties in spite of
absolute majority.

iv.Regional Parties are being accommodated to respect diversity.
v.Pre poll alliance is a new trend in Indian politics.

vi.Development and governance based politics is on the rise.

Ref

4x1

7
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(Or any other relevant point) (Any
four)

Q22. Highlight any two reasons of the separatist movement in Mizoram. 2x2
Ans | Reasons for separatist movement in Mizoram:- P- 2x2
i.Mizo people were of the opinion that they were never a part of | 16
British India. 3l

i.The Assam government failed to manage the famine of 1959.
Therefore, Mizos’ anger led to the formation of Mizo National

Front.
iii.Under the leadership of Laldenga MNF started an armed
campaign demanding a separate state in 1966.

(Or any other relevant point) (Any
two)

Q23. Highlight any two effects of globalisation on the politics of a country. 2x2
Ans | Political effects:- P- 2x2
i) Globalization results in an erosion of State capacity. 13
i) The concept of welfare State is now giving way to a more | 9!

minimal State.
iii) As an outcome of new technology, States have become more
powerful than they were earlier. But the emphasis now lies on the
global consumers than on the Nation-States.
iv. The increased role of MNCs all over the world leads to a
reduction in the capacity of the Government to take decisions on
their own.
(or any other relevant point) (Any
two)
SECTION D
Q24. 4x1

In the given political outline map of India of (on page 15), four
States have been marked as (A), (B), (C) and (D). Identify these
States on the basis of the information given below and write their
correct names in answer book along with the respective serial
number of the information used and the concerned alphabets given in
the map as per the following format:

Serial number of the Concerned alphabet | Name of the State
information used given in the map

®

(i)

(iii)

(iv)

(i) The State which was called 'Madras' at the time of Independence.

(ii) The State formed on the basis of imbalanced development.
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(iii) The State which was partitioned in 1947.
(iv) The first State created in 1952.

Ans Serial number of the Concerned alphabet | Name of the State ?TI 4xi
information used given in the map
@) B Tamil Nadu
(ii) A Chhattisgarh
(iii) D Punjab
(>iv) C Andhra Pradesh
Note: The following questions are for the Visually Impaired 4x1
Candidates only, in lieu of Q No 24:
(i) Which two States were created by dividing ‘Bombay’ State?
(ii) What is the present name of former ‘Madras’ State?
(iii) Uttarakhand was carved out of which State?
(iv) Name the State which was carved out of Madhya Pradesh.
Note: For visually impaired candidates:-
24 .1 Gujarat and Maharashtra
24.2 Tamil Nadu
243 Uttar Pradesh
24.4 Chhattisgarh
Q25. Study the cartoon given below carefully and answer the questions ax1
that follow: o
@) 55-

The above cartoon is related to which organistation?
(a) ASEAN (b) European Union
(c) SAARC (d) BRICS

Ans.(b) European Union
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(i)

The above cartoon is about which one of the following?
(a) Global warming
(b) Failure to make a trade agreement
(¢) Failure to draft a common constitution
(d) Failure to protect the environment

Ans.(c) Failure to draft a common constitution

(iii)

What does the circle of stars shown in the cartoon represent?
(a) Member-states of the organisation
(b) Unity of the organisation
(c¢) Success of the organisation
(d) Composition of the organisation

Ans.(b) Unity of the organisation

(iv)

In which year was the organisation related to the cartoon
established?

(a) 1967 (b)1985
(c) 1992 (d) 2006
Ans.(c) 1992

Note: The following questions are for the Visually Impaired
Candidates

only, in lieu of Q. No. 25
(i) Which organisation was established under the Marshall Plan?
(a) Council of Europe
(b) Organisation for European Economic Cooperation
(¢) European Community
(d) European Economic Community
(ii) Which two countries have resisted to adopt Maastricht Treaty ?
(a) Bulgaria, Romania (b)Britain, France
(¢) Denmark, Sweden (d) Poland, Finland
(iii)China adopted the 'open door' policy to improve its economy in
which year?
(a) 1975 (b) 1977
(c) 1978 (d) 1979
(iv) Which set of five countries were the founders of ASEAN?
(a) Indonesia, Malaysia, Philippines, Singapore and Thailand
(b) Indonesia, Malaysia, Philippines, Thailand and Brunei
(c) Indonesia, Philippines, Singapore, Thailand and Brunei

(d) Indonesia, Malaysia, Philippines, Vietnam and Thailand

4x1

Note: For visually impaired candidates:-
(i) (b) Organisation for European Economic Cooperation

Ch.

2-1

4x1

10
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(ii)(c) Denmark, Sweden
(iii)(c) 1978
(iv)(a) Indonesia, Malaysia, Philippines, Singapore and Thailand

Q26.

Read the following passage carefully and answer the questions that
follow:-

The first Prime Minister of India played a crucial role in setting the
national agenda. He was foreign minister also and exercised
profound influence in the formulation and implementation of India's
foreign policy. The three major objectives of his foreign policy were
to preserve the hard-earned sovereignty, protect territorial integrity
and promote rapid economic development. He wished to achieve
these objectives through the strategy of non-alignment. There were
parties and groups in the country that believed that India should be
more friendly with the bloc led by the US because that bloc claimed
to be pro-democracy.

4x1

(@)

Who was the main architect of India's foreign policy?
(a) BR Ambedkar (b) Mahatma Gandhi
(c) Jawaharlal Nehru (d) Sardar Patel

Ans. (c) Jawaharlal Nehru

67-
Il

4x1

(i)

Which one of the following is an objective of India's foreign policy?
(a) To pursue its national interest

(b) To preserve democracy

(c) To strengthen its Armed forces

(d) To become a superpower

Ans.(a) To pursue its national interest

(iii)

Non-alignment means

(a) to remain neutral (b) non-interference

(¢) to remain isolated (d) not joining any power

bloc

Ans.(d) not joining any power bloc

(iv)

Who believed that India should be more friendly with the bloc led by
the US?

(a)Bharatiya Jana Sangh (b) Swatantra Party
(¢) B.R. Ambedkar (d) All of the above
Ans.(d) All of the above

SECTION E

Q27.

(a) Highlight any four environmental concerns that have become
important in global politics.

OR

(b) Highlight any four economic consequences of globalisation.

4x 1%

4x 1%

11
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Ans

(b)

i.Decreasing cultivable area.
ii.No access to safe drinking water resulting in the death of more
than three million children every year.
iii.Speedy deforestation and elimination of national forests.
iv.Decline in the total amount of ozone in the Earth’s Stratosphere.
v.Increase in coastal pollution.
vi. Global Warming
(Points to be explained)
(or any other relevant point) (Any
four)

OR
i.Greater economic flows among different countries of the world.
This flow or exchange may be in the forms like commodities,
capital, people and ideas.
ii.Increase in the trade of commodities.
iii.Restrictions on movement of capital across the countries have
been reduced.
iv.The choices of customers have multiplied.
v.The job avenues have increased.
vi. Developed countries have carefully guarded their borders with
visa policies to ensure that citizens of other countries can not take
away the jobs of their own citizens.
v. It has increased the gap between the developed and developing
countries.
vi. It has widened the gap between rich and the poor, skilled and
unskilled within a country.

(or any other relevant point) (Any four)

P-
11
8-l

14
0-1

4x 1%

4x 1%

Q28.

(a)Examine any four criteria proposed for new members of the UN.
Security Council.

OR

(b)Analyse any four steps suggested by the heads of the member
states in 2005 to make the United Nations more relevant in the
changing context.

4x 1%

4x 1%

Ans

(b)

New member nation must be:-
i.A major military power
ii.A major economic power
iii.A substantial contributor to the UN budget
iv.A big nation in term of its population
v.A nation that respects democracy and human rights
vi.A country that would represent the world's diversity.
(Reasons to be justified)
(Any four)
OR
Suggestions:-
i.Creation of a peace building commission
ii.Creation of a democracy fund
iii.Establishment of a Human Rights Council
iv.Agreement to achieve millennium goals
v.Condemnation of terrorism.
(Suggestions to be explained)
(or any other relevant point) (Any

P-
89-

P-
91-

4x 1%

4x 1%

12
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four)
Q29. (a)"The dominance of the Congress Party in the first three general 3x2
elections did not adversely affect the democratic nature of Indian
politics." Support the statement with any three arguments.
OR
4x 1%
(b)Analyse any four reasons responsible for the popularity of Indira
Gandhi in the 1970s.
Ans | i)Dominance of Congress Party in India was different from the
(a) dominance of one-party in countries like China, Cuba, Mexico etc.
i) During the period of Congress dominance, free, fair and regular
elections were held. P-
iii) Voice of the opposition was heard with respect. 35' 3x2
iv) In the first general elections there was Government o f CPl in a
state ‘Kerala’.
v) A Multi-Party system was maintained as many new political
parties emerged.
vi) Congress worked as a social and ideological coalition which is
also known as a rainbow-like coalition representing India’s
diversity which helped in establishing democratic set-up.
(Any
three)
OR
(b) Major Reasons:-
1. Steps taken by Indira Gandhi to reduce poverty such as-
i.The popular slogan given by Indira Gandhi, ‘Garibi Hatao’.
ii.Nationalization of Banks. 4x 1%
iii.Land reform laws and Land Ceiling Act. P-
iv.Abolition of Privy Purse. 93-
2.She was the first lady PM of India. Il
3.She supported V.V.Giri who was the leader of the labour class,
and got him elected against the will of the Syndicate.
4.She won the war of 1971 with Pakistan.
5. She was seen as a courageous leader.
(or any other relevant point) (Any
four) (Points to be explained)
Q30. Describe any three factors that make most of the former Soviet 3X2
Republics prone to conflicts and threats.
OR
Explain any three reasons that forced Mikhail Gorbacheyv to initiate
reforms in the Soviet Union. 3X2
Ans | Factors:- P- 3X2
(a) i.Soviet system failed to meet the aspirations of the people. 20-

ii.Economic stagnation for many years.

iii.The Soviet economy used much of its resources in maintaining a
nuclear and military arsenal.

iv.It had become stagnant in an administrative and political sense.
v.The rise of nationalism and the desire for sovereignty within
various republics.

vi.Nationalists' urges and feelings were very much at work
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throughout the history of the Soviet Union.
vii.Ethnic and religious differences within the Central Asian
republics coupled with economic backwardness.
(Or any other relevant factor) (Any
three),
OR
Reasons:-
i.Reforms were necessary to keep the USSR abreast of the
information and Technological revolutions taking place in the west.
ii.Mikhail Gorvachev also felt the need to normalize relations with
the US.
iii.To reform the Soviet Union economy with the west, the
administrative system also forced Gorbachev to initiate the reforms
in the USSR.
iv.Reforms were considered essential to liberate the rigid
administrative system of the Soviet Union.
v.Gorvachev felt that the Soviet economy had become stagnant.
vi.The Communist party was not accountable to the people, this
further created resentment.
viii.The people in the East European countries which were part of
the Soviet bloc, started to protest against their own governments
and Soviet control.
(Any
three)

P-
19-

3X2
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